104

10°

102

104

10°

104

10°

104

102

104

102

__TAC (PMT #0) __

my  Mean:98.83
0:1.16

__TAC (PMT #4) _

rn. Mean:101.70
0:1.22

__TAC (PMT #8) __

e,

e Mean:111.79
7
3 I 0:1.32

ae Mean:113.44
0:1.35

__TAC (PMT # 16) __

= Mean:115.34
L 0:1.45

105 110 115 120 125 130 135

104

102

104

10°

__TAC (PMT#1)

f”'- Mean:112.21

1

3 [ l] 0:1.34
|

re. Mean:103.16
0:1.33

3 l
;m,J nAhI

95 100 105 110 115 120

__TAC (PMT#9) __

104
71 Mean:112.32
. i
o' Jf N 0:1.39
[ ‘]

102 = j

10

ety M P I

105 110 115 120 125 130

102

102

—_TAC (PMT # 13) —

rn1 Mean:108.59
0:1.23

NPT TS
105 110 115 120 125

__TAC (PMT # 17)

41, Mean:116.46
1 r H_l 0:1.41

I

110 115 120 125 130 135

__TAC (PMT#2) __
rr‘L‘ Mean:109.40
w0 i l] 0:1.26

104 b=

104

r~ Mean:111.80
. I
3 [j 1 o129
102 J

! Mean:115.72
10° A .
J 1 0:1.42
102 ’
|

__TAC (PMT #6)

& Mean:98.09
0:1.32

__TAC (PMT # 10)

. Mean:113.21
0:1.33

“;

105 110 115 120 125 130

—_TAC (PMT # 14) —

Al Lt
110 115 120 125 130

__TAC (PMT # 18) __

T PP Y Y
l105 110 115 120 125 130 135

IS Mean:104.86
L
| 1{ 0:1.19
[
ik |
|' l
B T R T

= Mean:106.09
4L
o' Jf Ll o121
fo]
102 b= j Ll
-

-

P

_ TAC (PMT #3) __

__TAC(PMT#7) —

os Mean:113.48
0:1.35

—_TAC (PMT # 15) —

iy Mean:109.59
3 rJ l] 0:1.26
L [J -I
= |
el

™ Mean:110.93
0:1.28




104

104

10°

102

Los 110 115 120 128

__TAC (PMT # 20) __

=, Mean:107.96
41
1 Jf 1 o119
[
:|-L'_IJJ
10'0 II].DS-.J_._U_hIO_u_ 115””"”‘12‘5
—_TAC (PMT # 24) —
., Mean:116.51
1 r v o145

__TAC (PMT #28) __

- Mean:113.45
wE f L] 0:1.38
o]
102 I,I I
10 IJ
1= ;OISI * 110 115 120I . 125I * Iiﬁlﬂl - I135
__TAC (PMT # 32) —
o) Mean:156.56
7
0 E J L 0:1.06
[
wif J
[
10 :l_r"‘
1 l15'0l l_._.l_SIS_._._ul_GID_l * 165. - l17'0l *
__TAC (PMT # 36) __
l'n" Mean:160.75
[j ]l 0:1.27
102 J ]
[
10 ]
1’5"_:-:5J T60 165]Ili7:)IIII17I5IIII1

10° A ‘l]

«ny Mean:103.36
. I
wE | L o142
r o\
wb ]

104 b

iy

_ TAC (PMT #21) __

m Mean:112.06
w0k Jf L o126
102 j
ot P P BT B
105 110 115 120 125 130

__TAC (PMT # 25)

104

o7 Mean:110.62
0:1.49

N A P P
110 115 120 125 130

Laaas
100 105

__TAC (PMT #29) __

—_TAC (PMT # 33) —

Mean:161.55
0:1.16

I

95 100 105 110 15 120 125

H
__TAC (PMT # 37) —

™ Mean:161.11
| 0:1.28

—_——

_TAC (PMT #22) __

s

#1, Mean:112.51
r f 7 o3t
L

w

b N N T
105 110 115 120 125 130

__TAC (PMT # 26) —

~ Mean:113.83
B [t
' [J LI 0:1.34
| ‘

o, Mean:114.68
ok Pl oas
I
Lol
10 l,‘
10 J
1.|...’ AT P

T

__TAC (PMT # 30) __

—_TAC (PMT # 34) —

~ Mean:163.26
0:0.96

N P PP TN PR PO T
156 158 160 162 164 166 168 170 172 174 176 17

__TAC (PMT # 38)

A Mean:161.87

s [ Y o113
Mol

L J 'i

] |

8

__TAC (PMT # 23) __

104 =
ri, Mean:110.72
10° A .
rJ 1 0:1.33
J
102 b
- I R T R U TR
—_TAC (PMT # 27) —
m. Mean:118.25
; il
v 11 0:1.58

I
|

b

| I | T T
110 115 120 125 130 135 140

_TAC (PMT #31) __

Mean:108.35
0:1.25

b

—_TAC (PMT # 35) —

Mean:158.87
0:1.22

L Jl' 4

|- !

PPN IR
50 155 160 165 170 175

— TAC (PMT # 39)
] Jﬁ.1 Mean:163.84
- 7 L] 0:0.94




104

10°

104

102

104

10

102

— TAC (PMT # 52) —
3 Jr',_] Mean:162.62
wik | L o102
[ |
102 j |__|
10 :lJ_L!' [

104

10°

102

L I

__TAC (PMT # 40) __

as Mean:165.57
3 | l-l 0:1.06

—_TAC (PMT # 44)

r~ Mean:158.89
L
[1 o123

___TAC (PMT # 48) __
an Mean:165.21

0:0.98
[

__TAC (PMT # 56)
Mean:168.49
0:1.06

104

104

10°

102

104

102

__TAC (PMT #41) __

™ Mean:167.04
1 J[ 1[ 0:1.14

—TAC (PMT # 45) —

g Mean:163.79
0:0.93

__TAC (PMT #49) __

=~ Mean:166.01

3 |'J | o0:1.05
_ JJ ]

ny Mean:166.58

3 |_j|- l] 0:1.12
i [J l]
L J LI

rr, Mean:166.81
0:1.22

l

A A [

160 165 170 175 180 185

s

a -

__TAC (PMT #42) __

Jnl Mean:159.89

3 | 0:1.28
[
L | |

fa

| NP . .
155 160 165 170 175 180

—TAC (PMT # 46) —

™ Mean:166.92
- 'y o114
I
L[]
rIﬁjJ 1]
PRPS EPRFPEPE EPEPEPET B AP B | PP

__TAC (PMT # 50) __

ey Mean:168.87
0:0.98

R PR PR PRTT PO P
162 164 166 168 170 172 174 176 178 180 182 184

—_TAC (PMT # 54) —

. Mean:164.48
2 J 1 0:0.95

|

Ll N TP TP TP PP
158 160 162 164 166 168 170 172 174 176 178

__TAC (PMT #58)
7~ Mean:163.98
L H L] 5:0.98

|

102

1

s

s

__TAC (PMT #43) __

. Mean:163.61
7 1
3 L 0:0.95

_[J
1

|

__TAC (PMT # 47) —

a7 Mean:162.05
[ |_1 L]

:1.13
N | 0
|
]J |

_TAC (PMT #51) __

., Mean:163.57
0:0.94

—_TAC (PMT # 55) —

. Mean:159.62
A

3 | ‘1_| 0:1.26

|

__TAC (PMT #59) __

. Mean:165.67
ra
A :1.10
IJ ]‘I ’
[ |
10 ] -|
| —




104

10°

102

__TAC (PMT # 60) __

P Mean:162.78

L rol .
[ 0:1.04

155 160 165 170 175 )

__TAC (PMT # 64) —

4 Mean:141.07
0:1.09

__TAC (PMT #68) __

s Mean:143.71
0E Jl' Ll 0:1.10

|

[
J'—||—J-“-“-'-L“"'
— TAC (PMT # 72) —,

™ Mean:141.92
10°F [J 0:0.97

|

]
1;|5’lJ;ﬁIK;.A_HT4I5_ 5'0 15I

104

102

__TAC (PMT # 76) —

r"_'L Mean:141.26
- [J IL 0:1.07
|

e

104

m, Mean:142.71
w0 Jr h 0:1.02
102 "

104

102

"
e

__TAC (PMT #61) __

™ Mean:157.89
3 [ 1 o131

__TAC (PMT #65) __

i Mean:143.75

i

: Jr‘ 6:1.10
J[

y

ay

Lol ool o 1

_TAC (PMT #69) __

— TAC (PMT # 73) —,
3 7= Mean:142.12

L [J N o004
|

— TAC (PMT # 77) —
pr, Mean:141.91
L/ L] 0:0.96
| !

10°

a Mean:141.46
-

0°E |_J L 0:1.04

10 J \

1

L

_TAC (PMT #62) __

™ Mean:166.96
- 'l o118
I

__TAC (PMT # 66) —_

™ Mean:137.04
0:1.21

__TAC (PMT # 70) __

3 |
135 140 145 150 155

— TAC (PMT # 74) —

T, Mean:146.71
wl Jr ‘] 0:1.08
" !
w02 J
T
— TAC (PMT # 78)
ry, Mean:144.92
A}
[V o114
J |

|

f

L]

140 145 150 155 160

__TAC (PMT #63) __

Jl—,_] Mean:164.77
10° J- L 0:0.96
o
1 .|[ [ PP PR
160 165 170 175 1
— TAC (PMT # 67) —,
104 =
ﬂ_‘ Mean:141.56
[ L o102
102 I'I
1 l13'5 * l‘l_.l_dlo_u_._.l_AIS_l 150 l15'5l
__TAC (PMT# 71)
=1 Mean:143.13
b
0°E |-J -l 0:1.01

10

10°

b

Ll A A A A A
1 136 138 140 142 144 146 148 150 152 154 156 158

||

[
|

__TAC (PMT # 75) —

. Mean:142.59
]
3 L 0:1.00

__TAC (PMT # 79)
A Mean:141.32

l§ Ll
L i 0:1.07

rol
I

R

135 140 145 150 155



104

104

102

104

10°

102

104

104

102

1 140 145 150 155 160

__TAC (PMT # 80) __

™ Mean:145.06
3 rl o117

__TAC (PMT # 84) —

Mean:153.02
0:1.18

r=1
4 L

3 I

__TAC (PMT #88) __

e, Mean:147.97
0:1.09

__TAC (PMT #92) —

g™ Mean:141.63
- | L] 0:1.08

__TAC (PMT # 96)
2 Mean:148.44
0:1.07

_TAC (PMT #81) __
rﬂj Mean:146.55
Wk 1 l] 0:1.16
Jr ‘]
‘ -|
L I’l::D_!J' 145 150 II;.SSIIII16ID|-|
__TAC (PMT #85) —
e Mean:158.65
“F 1 o146
1
L ‘]
T T 16'5. * l1'7:]' nllll * r!a‘d
__TAC (PMT #89) __
1 Mean:143.08
w0k [J | o:1.05
102 ‘IJJ)JJ
113‘5‘”140 145 I15:)””15I5I”‘

104

10°

102

— TAC (PMT # 93) —
P Mean:137.59

3 [J‘ 0:1.26
I
F
|

130 135 140 145 150 155

__TAC (PMT #97) _

py, Mean:146.95

L [ L]l 0:1.10
o]

| \
I141I0I * 145 150 * I15ISI -t I160I =t

__TAC (PMT # 82)
I Mean:146.74
wh Jr Y o113
f I
102 |- J
L b 145 150 |-|15I5I - I15'0I -
— TAC (PMT # 86) —
] Mean:170.68
L ik
” r 1 0:1.41

.

__TAC (PMT # 90) __

l'“ Mean:145.57
0:1.19

__TAC (PMT # 94) —

':IL Mean:140.99
0:1.17

__TAC (PMT #98) __
~ Mean:151.30
L 0:1.12

10

10°

10

_TAC (PMT #83) __

m, Mean:151.95
11
3 J' 1 o121

HI Wi NI

145 150 155 160 165 170

__TAC (PMT # 87) —

p~ Mean:207.05
0:1.06

__TAC (PMT#91) __
~ Mean:142.33
0:1.05

__TAC (PMT # 95) —

I, Mean:142.64
3 J- L, ©:1.00

i Mean:149.30
0:1.08




r..,L Mean:148.98
vk [J | 0:1.05
J !
102 |-
10 IJ Ll
P I....I...r
113 145 150 155 160 16!
___TAC (PMT # 104) __
104 F
™ Mean:150.93
Jf L]l 0:1.11
102 "

1

=~ Mean:150.84
0°F [ l'I 0:1.12
.
102 J”
1= I14‘5I 150 R Ilslo * Imlsl -
—_TAC (PMT # 112) __
104 k=
7 Mean:139.64
©'F Al o139
ol [

104

10°

102

___TAC (PMT # 100) __

j,_.f

il . |-| [11.1.. .
145 150 155 160 165

___TAC (PMT #108) __

alaaa 1
130 135 140 145 150 155 160

__TAC (PMT # 116) __

71 Mean:143.21

L,

- [Jl 0:1.06
[

-|_|_r_‘

104

10°

102

104

10°

102

104

___TAC (PMT #101) __

. Mean:148.41
0:1.07

155

___TAC (PMT # 105) __

J-er-l Mean:151.26

r i 0:1.15
1

)

]

145 150 155 160 165

___TAC (PMT #109) __

e Mean:158.08
3 Jl' ]x 0:1.30

__ TAC (PMT # 113) __

" Mean:139.99
3 Jl' ][ 0:1.31

__TAC (PMT #117) __
r~ Mean:135.83
L
[ 1 o127
Jf
[
|
10F
ﬁ’_?-i;;;'udim'blo— Dsn 50 155

10°

___TAC (PMT # 102) __
I Mean:146.77
0:1.12

140 145 150 155 160

___TAC (PMT # 106) __

= Mean:147.10
0:1.09

__TAC (PMT # 110) __
|_r~,_‘ Mean:152.52
0:1.15

—_TAC (PMT # 114) __
™ Mean:137.04

3 [ 0:1.33

1
4
-

paal P P I
130 135 140 145 150 155

___TAC (PMT #118) __

1. Mean:145.31
0:1.21

10°

ey Mean:153.65
0E | l] 0:1.19
|
| 1'7
|
10
1145I ' I‘l_‘F;IO_._u_EIS_u_LImOI * r!b"sl = I17I0“
—_TAC (PMT # 115) __
7 Mean:142.21
b
ok I\ o107

10

__ TAC (PMT #103) __

Tt Mean:146.81
: Jf N o1

1
145 150 155 160

___TAC (PMT # 107) __
g™ Mean:148.75
3 [ Ll 0:1.06
I

|

__ TAC (PMT #111) __

: [H
7 ]

135 0 1 155

__TAC (PMT #119) __

1 Mean:140.95

A
3 Jf 1 0:1.18
[
'FJ‘ I
- |13I5|_|_|_if0_|_|_|_|1_4|;| * 150 155



___TAC (PMT # 120) __

104 =
i Mean:157.39
s i ]
oF [ | 0:1.30
o] JV
1’-L!—LIJ Lisaalovasl
150 155 160 170 175

__TAC (PMT # 124) __

10¢
™ Mean:150.94
[ L] 0:1.11
|-
0 ]’
1 ”14|5r 150 155 ”15‘0””16‘5”‘

__TAC (PMT #128) __
. Mean:118.12
0:1.20

_ TAC (PMT #132) __

104 =

rty Mean:120.89
wk [J L] 0:0.90

__TAC (PMT #136) __

M., Mean:119.61
V'J 1 .
10° i I_ 0:1.04
.
102k j ]
i
t 11|5"“""'1‘2‘0_'""_.|12‘5I B R

104

10°

102

104

10°

102

sk

___TAC (PMT #121) __
as Mean:156.53
0:1.19

__TAC (PMT #125) __

Iy Mean:146.73
0:1.19

__TAC (PMT #129) __

m. Mean:119.68
0:1.00

_TAC (PMT #133) __

104 b
rh Mean:117.38
e I o119
[
A ]J ]
= ’jj_j:lTIS_._LuIEIU_J * l12'5 130 13'5
__ TAC (PMT # 137) _
s Mean:118.19
o'k [} o124
| 1[
|
1 llIOI - 115 120 iZISI - iSIDI = I13I5“

10°

1

___TAC (PMT # 122) __
Mean:152.35
- A 1] 0:1.16

150 155 160 165 17

__TAC (PMT #126) __

Mean:148.39
0:1.09

I
L 1 i

___TAC (PMT #130) __

Mean:116.34
0:1.13

_TAC (PMT # 134) __

A1 Mean:119.26
i 0:1.11

do

0 115 120 125 130 135

__ TAC (PMT # 138) __
=1 Mean:122.20
0:0.97

10°

-

10°

ab

L [J

s

___TAC (PMT #123) __

|_n1 Mean:153.61
3 I ‘] 0:1.18
I

w
-

45 150 155 160 165 170

__TAC (PMT #127) __

™ Mean:153.07
i
- I 1 o113

.|-||-| P EPRPEPEPE B |
145 150 155 160 165 171

L

___TAC (PMT #131) __

|.r|_ Mean:117.56
3 A 0:1.19
J ‘
- ]
o
’-!_TJ._/ PEFE B B 1

__TAC (PMT #135) __

Jn Mean:119.71
0:1.01

___TAC (PMT #139) __

ia Mean:119.35
3 [1 ][ 0:1.10

o,

115 120 125 130 135




104

10°

1

104

___TAC (PMT # 140) _
™~ Mean:115.84
s jr Y 0113
!
[

]

T

P PR L
110 115 120 125 130

__TAC (PMT # 144) __

Mean:124.61
0:1.11

AL,

104

10°

102

|
E L
f

FY_H_[ ool
120

. Lowaals
5 5 130 135 140

___TAC (PMT # 148) __
. Mean:121.55
0:0.97

104

— TAC (PMT # 152) __
pr, Mean:113.97
3 |'J ' 0:1.04

L [J

J

b

104

102

ﬂ M.m...

110 115 120 125 1

___TAC (PMT # 156) __

1l

fnL Mean:120.21
L 177 0099
[ L
: 1
T

104

10°

102

104

10°

102

104

102

___TAC (PMT #141) __
. Mean:116.61
T 1

1 | % o110

[

A I
115 120 125 130

__TAC (PMT # 145) __

I Mean:125.28
3 | R o

ol

125 130 135 140

___TAC (PMT #149) __

g Mean:126.69

3 J Ll 0:1.10

__TAC (PMT # 153) __

J—--l Mean:119.81
- [ 4 o109

ik

___TAC (PMT #157) __

i Mean:112.19
i I' 1 o:1.00

Jr
-
|

105 110 115 120 125

10°

1

___TAC (PMT #142) __
. Mean:116.52
rA

3 | L 0:1.12

__TAC (PMT # 146) __

. Mean:124.11
0:1.28

. AP PR
115 120 125 130 135 140

___TAC (PMT #150) _
i, Mean:120.58
0:0.96

s

115 120 125 130 135

__TAC (PMT # 154) __

Iy Mean:120.67
- [ L] 0:0.94

|

Do b T
__TAC (PMT #158) __
A Mean:121.62
4k
10% b J’ 1 0:0.96
102 j
g L '135r‘

___TAC (PMT #143) __

pe; Mean:123.95
oL 7Y o2
J L
wp |
|
1'115I IIZOJ_._._._.]._ZIS_._._‘ 13IDIIII13I5IIII14
___TAC (PMT # 147) _
., Mean:124.78
17
10°F |- I- 0:1.04
I
102 = ]
1 2‘0"““"1“2‘5_“_'_‘130' e '14|u‘
__ TAC (PMT # 151) __
7=y Mean:118.54
e |" Y o128

[
| WH
-1|1’:-!JI‘115 120 12I5I ' I13‘0I - I13‘5I *

__TAC (PMT # 155) __

S Mean:123.75
b Jf N ou
rol
02| |
1 1'5 120 125 13'0l - 135 o l14'0
___TAC (PMT # 159) _
m Mean:112.94
Jf 1  0:1.09
!
102 "
[l
gk rrﬁ'a“-‘-'ﬁ%"‘ pr o '12|5_| SR




___TAC (PMT # 160) __

A Mean:141.07
Wk |'1 Y oi10s
|l
wbo ]
J L
o
Py P 1 L
135 140 145 150 155

__TAC (PMT # 164) __

104 F
=y Mean:146.96
10° |-J Ll 0:1.01
J !
102 [ -I
| !
L l14IO|_| |7145 15(:|-‘ * l15'5l )

__TAC (PMT #168) __

Fe_ Mean:150.12
[J ]1 0:1.04
102 = lJ
1 |-| ’—fJ' bl

__TAC (PMT #172) __

T J_L‘l Mean:142.04
0k Jr '! 0:0.95
T

of

113'5’_!{3'5'-'-‘-';.'5— i

__TAC (PMT #176) __

104 b

p= Mean:149.09
10°F |- L! 0:1.02

___TAC (PMT #161) __

i Mean:146.32
0 E [J L 0:1.07
| |
02k [ |
|
10k ’Il_r i
1= lélIDI 145 150 IIIISSII”16ID“
___TAC (PMT # 165) __
T Mean:144.92
wl Jf N o0:1.08
|
4 |
|
|
1 Ijo_-l_._ul_‘lls_.—u_.l-SO""lSS""lGIO
_ TAC (PMT # 169) _
M. Mean:147.41
[
10°F |_J L 0:1.02
ol J n
f
10 |—‘
1140I ' I-.EIIS_._H_EIO_L I15'5 * I16'0I
__TAC (PMT # 173)
Jr-L Mean:146.29
0 E f | 0:1.07
| [
02k [ Ll
10 I_|_’J \
__TAC (PMT # 177) _
. Mean:147.71
10% |- L 0:1.03
]
[ L
1 14‘0’_!_!{1_4!5_“_'"13{1_" '15!5 * I15‘0 *

104

™ Mean:146.06
wl P 1[ 0:1.07
102 = J[ -!
I
g
1 " n —| 1 P
—_TAC (PMT # 174)
=y Mean:143.02
il
0k |' A 0:0.97
A
j[
e H‘*%‘“*“ el

~y Mean:154.75
108 Jl— L 0:1.06
102 J[
1= I15‘0 55 16'0 = I16‘5I - '17:)‘

___TAC (PMT # 162) __
s} Mean:145.44
I'5

3 1 0:1.10

[

140 145 150 155

Ll
160

__TAC (PMT # 166) __

r, Mean:141.98
L JL] 0:0.94

o

| !
|

135 140 145 150 155

___TAC (PMT #170) __

___TAC (PMT #178) __

102

10

] 7= Mean:144.28
w0t [J 1 o105
J
1‘135I * 1|:l'0_|_|_|_|17‘|5_|_|_|_15:’l - I155I = I16'0

10°

10

AARN 1 YT P Y PO PP
11ﬂ 142 144 146 148 150 152 154 156 158 160 162 164

s

___TAC (PMT #163) _
pr, Mean:141.99
L ) ooos

_ TAC (PMT # 167)

7= Mean:148.11
0:0.99

__TAC (PMT #171) __

__TAC (PMT # 175) __

I Mean:146.97
3 [ l'] 0:1.05
L

[
41

140 145 150 155 160

___TAC (PMT #179) _

~_ Mean:146.51
0:1.08




__ TAC (PMT # 180) _

J'_"‘ Mean:143.97
L,
0°F J[ -| 0:1.06
102 J'-
[
lj3—| : IlAJD_._._._.1_4|5_._._l 15'0I - IISISI = Ilé
___TAC (PMT # 184) _
™ Mean:146.01
1
I 1 o111
| l]
102 J’ ‘
10F ’
|
E nf‘-‘-‘a‘;‘-‘-‘-‘g‘a B o
__TAC (PMT # 188) _
;11 Mean:142.71
vk J— L. 0:0.98
102 j[

104

10°

JI'LV Mean:237.88
r 1 o0:1.02
[
102 [
|
10 ’_Frr
1 FRSVETNUNETAN PR E R

ot NP PP PP P
1225 228 230 232 234 236 238 240 242 244 246

_TAC (PMT #192) __

pe; Mean:232.97
0:0.91

___TAC (PMT # 196) _

_ TAC (PMT #181) _

7 Mean:147.06
0°E |'J Ll 0:1.06
J L
102 [ -!
|
___TAC (PMT # 185) _
7, Mean:144.17
ok [J | 0:1.03
113 l14!0_u_._.1_A|5_._H l150l - l15I5. - l1E
__TAC (PMT #189) __
j_."I Mean:141.05
w [ 7 o114
[
L 1[

L |_]

__TAC (PMT # 193)
A Mean:239.41
rh

0’k [J i 0:1.04
1 'zals_'_'_uﬁlo_'_'_kz‘:s' - 'zslol-l rlzsls
__TAC (PMT # 197) _
r,_1 Mean:233.72
w0k Jf l] 0:0.96
102 [ l-I
A3 '2'3‘6""2'5'5“5'3"2”'2'36"""2:3‘5' S e

__ TAC (PMT #182) _

ey Mean:142.68
0l J L. 0:1.00
|
___TAC (PMT # 186) __
|_FL Mean:142.51
0°F J ][ 0:1.01
[
_ TAC (PMT # 190) __
'J"IL Mean:141.27
@f fp | oLo8
__TAC (PMT # 194) _
7 Mean:240.33
0'E A -ll 0:1.02
[
1 2;5'%45' - l250l - l25'5
___TAC (PMT # 198) __
1 Mean:237.06
[J y 0:0.97
[
123{"2‘3‘5""""&'0" I24‘5 * I25‘0 *

10

10

1 Mean:145.15
o [ ] oiL10
102 b= JJ l
L.
1 : I14'0 145 150I - I155 - I160
___TAC (PMT # 195) _
T Mean:233.63
.
ok Jf 1] 6:0.96
ok J[ 1_|
10 l
1l ““*“*““*j sl

104
J_'L, Mean:241.81
wp [T o7
[
102 b= l
10
1 | I PR B PRI B
235 240 245 250 255 26

ab

___TAC (PMT #183) _
It Mean:145.70
0:1.12

__TAC (PMT # 187) __

A Mean:140.80
3 JF L o116

___TAC (PMT #191) _

___TAC (PMT # 199) _




___TAC (PMT # 200) __

104 =

= Mean:240.64
0:1.06

__TAC (PMT # 204) __
m Mean:241.38
I 1 o:1.05
Jf
1 23‘5 240 a5 '25|0””25|5”‘
___TAC (PMT #208) __
e Mean:240.44
v | L 0:1.06
[
102 = J
T T R A R
__TAC (PMT #212) __
rh, Mean:241.88
0k [ 0:1.08
[J
1 23‘5 240 o 25|o|2_5|5

___TAC (PMT # 216) __

104

r‘F‘L Mean:239.31
r . o105

102 J

[ HLLLM SEFERiY

255

___TAC (PMT # 201) __
n Mean:246.73
0:2.04

___TAC (PMT # 205) __

104
il Mean:239.36
wl [J 1] 0:1.08
102 J |
213 lZSKF:_._._._.Z_AIO_._._._.PlS — l250l - l25'5
__TAC (PMT # 209) _
JI'L,l Mean:239.97
o'k r ]l o111
[J L
1III23‘5 240 24‘5 I”zsln””z;s"
—_TAC (PMT # 213)
+y Mean:238.86
w F'h o sam

0 235 240 245 250 256

___TAC (PMT #217) __

= Mean:236.83
ol 'L o005
102 = '-

|
g
rjw .0

230 235 240 245 250

__TAC (PMT #202) __

~, Mean:242.89
: 7l
ol J | o118
[
102 J -l
N} I, e
___TAC (PMT # 206) __
i, Mean:237.94
10° Jl' ‘-l 0:1.05
L
102 j"
12IO’_le—‘:3IS_._._._.ZTlIO_._l 2A‘JI5l |_|25IU
_ TAC (PMT # 210) __
i Mean:237.58
e
0k | ‘-l 0:1.04
ri

[

230 235 240 245 250

__TAC (PMT # 214) __

Jr',_‘ Mean:239.79
'l [ L'| 0:1.09
I
[ |
102 J
T 'zals_'_u_'z_zzlu_'_'_'_'z'%n bttt
__ TAC (PMT # 218) __
7 Mean:238.97
o Jf Ll 0:1.11
102 ' -l
| !
53 IzﬁID_.JJ-IZAIS - I250I = I255

10°

10

"

10

1

i, Mean:237.96
P | o105
J L
102 J-
[
123‘0'”235 740 '24|5””25|0'”‘

sl

__TAC (PMT # 203) _
7 Mean:240.37

3 [J ][ 0:1.07
|

1 |...|..|-||.‘
235 240 245 250 255

_TAC (PMT # 207)

Mean:238.61

I

3 J L o:1.08
i |
|
-
. * .Z_QIS_._._._.Z_}E._._‘ l245 25'0 2!

__TAC (PMT #211) __

=7 Mean:241.01
A

¥ Jf Y o8
2
|
e S

__TAC (PMT # 215) __

[ﬂ_ Mean:239.51

0:1.08

- I I I
235 240 245 250 255

___TAC (PMT #219) __




104

104

102

5

104

10°

102

104

104

10°

102

S

___TAC (PMT # 220) __

b, Mean:238.10
3 [J -ll 0:1.06
!
oL

___TAC (PMT #224) __

i Mean:92.28
- [J L 6107
gl T

___TAC (PMT #228) __
~y Mean:86.71
l] 0:1.08

!

_ TAC (PMT #232) __

S Mean:91.75

3 Jr L| 0:1.13
|

i

g

__TAC (PMT #236) __

] o Mean:88.69
3 Jf l] 0:1.13
Aol
L ]
[ !
Il
TS

104

102

102

104

10°

102

104

102

s

___TAC (PMT # 221) _
Jn] Mean:228.85
L I 0:0.95

.

|

Lok ol bbb,
222 224 226 228 230 232 234 236 238 240 242 244

__TAC (PMT #225) __

= Mean:92.94
- Jf 0:1.13
o
NEUSNRUDUTINIS FRVRNT I I

___TAC (PMT #229) __

J_'l-, Mean:87.76
3 MY  0:1.09
!
L
I u
BDI - 85 90 IIQ;““lO‘O““lOS

_TAC (PMT #233) __

A Mean:91.40
0:1.14

___TAC (PMT #237) __

2y Mean:88.53
3 L 0:1.13
J [
i [J ]
E‘o!_!_:-i-lss 90 -| 'gsl S ImloI = '10|5‘

102

71 Mean:89.14
R i L
3 J[ | 0:1.14
102 [ \
&0””&5 90 95‘””10!)””10‘5“

~ Mean:92.86
wh Jf W o112
102 = '
[J
* ;J—m
1 'ssl = "'3(')'“""5‘5_"" * 10‘0 I10‘5I Tio

a b

.

__TAC (PMT #222) __

7 Mean:236.34
0:0.97

-]

[

—TAC (PMT # 226) __
v Mean:90.88
s Iy o113
A

[J

N
il

il Lo
100 105

___TAC (PMT # 230) __

_ TAC (PMT # 234) __

A1 Mean:91.42
3 |-J I 0:1.13
’JIB_:-‘ 90 . 10!}””10‘5”"

___TAC (PMT #238) __

102

10

b

L

___TAC (PMT #223) __

™ Mean:236.20
: I 1 o096
ot
o [4-'2—3'5—'—'-'—'27% T
__TAC (PMT # 227) __
-~ Mean:88.52
3 L 0:1.11
J |
i [J
E‘U!-!_TJl_lSS 90 l95' o iUID o l105

__TAC (PMT #231) __

M Mean:87.30

JTL
F |- | 0:1.09
|
F
o 11

__ TAC (PMT # 235) __

i~ Mean:92.90
'k Jf Y o114
102 [
[l
10 :l_'_l'L‘
1 lBé”l 90 95 llO'U”'iUS””llID
___TAC (PMT # 239) _
IS Mean:87.66
[ 7 oo
-
1 :'_r_d
s laa o daaaaladaa b laaan




104

104

102

104

10°

102

104

104

10°

102

___TAC (PMT # 240) __

,Jn'-\ Mean:95.76

1 i ]-l 0:1.43

— TAC (PMT # 244) __
fr. Mean:89.68
1 0120

L [ 1

—_—
—

___TAC (PMT #248) __

|"._‘_l Mean:96.15
3 | 'l 0:1.40
]

[

|
!

—_TAC (PMT # 252) __
7= Mean:88.20
3 i 1 0:1.09

| SS—

___TAC (PMT # 256) __

m  Mean:89.30
0:3.17

1 1 1
100 110 120 130

104

104

10°

102

104

104

10°

102

__TAC (PMT #241) __

Wl Mean:93.54
3 |" -! 0:1.36
_ J,J
.|
T
T TR | e 1
85 90 95 100 105 110

____TAC (PMT # 245) __
41 Mean:87.16
. 7 L o112

__ TAC (PMT # 249) _
1 Mean:89.15

1 J[ l] 0:1.16

L I !

|

snﬂl'lss 90 '95”';0'0””11)'5"

__ TAC (PMT # 253) __

I Mean:87.81

L,

3 [ 7 o118
|’ L
J[

% 'J—'-'-'-'-'-'-'-'-h R
— TAC (PMT # 257) __
i sy Mean:91.80

f . o281
|
rlJIHBlI) 90 100 ”1‘1‘0”‘1‘2‘0”'islol‘

10°

Jr',_' Mean:91.81
=[] o4
J[

I

___TAC (PMT #242) __
™ Mean:90.58
1 | L] 0:1.16

__TAC (PMT # 246) __

A Mean:91.39
- / ‘u] 0:1.15

J

|

L.

85 90 95 100 105

___TAC (PMT # 250) __

.

90 95 100 105

_TAC (PMT # 254) __

~5 Mean:90.91

_.__TAC (PMT # 258) _

- Jr H 0:1.15
- [
]

m  Mean:92.51
L ™
r"j [ 0:3.03
|
1
i L
(; * I"E|1 90 100 * ilIOI - 12'0I * IIISIDI -

A Mean:94.93
b L 0142
|
102 J
I'I...f] T

10

s

___TAC (PMT # 243) __

el Mean:94.61
0:1.45

__TAC (PMT # 247) __

"y Mean:92.63
0:1.15

___TAC (PMT #251) __

85 90 95 100 105 110 115

__TAC (PMT # 255) __

7 Mean:94.53
3 [ |-, 0:1.36

__TAC (PMT # 259) __

R Mean:86.00
/ 0:3.26

=



104 F

__TAC (PMT # 264) __

___TAC (PMT # 260) __

i Mean:97.22
/]
I 0:4.73
|
" 1 PR 1
80 100 120 140 160

Mean:90.00
0:2.41

|
a
1

HI.”-!J.!.I. L ." 1
100 110 120

___TAC (PMT #268) __

ll TP T |
80 90 100 110 120 130 140 150 160

__TAC (PMT #272) __

Mean:98.85
0:4.16

Mean:91.85
0:2.80

i

by
L

BO 90 100 110 120 130 )

__TAC (PMT #276) __

&

i Mean:98.73
[ ] o260

102

__TAC (PMT #261) __

i s~ Mean:87.24
" 0:2.93
aals [P TS TS B
70 80 90 100 110 120 130
— TAC (PMT # 265)
[ & Mean:96.66
‘ 0:4.55
s P PR | | P
___TAC (PMT # 269) _
M Mean:98.70
[} o257
1 Laaaa oo Lo

.___TAC (PMT # 273) __

. Mean:92.02
Iy 0:3.50

il WP PN P P T
70 80 90 100 110 120 130 140

___TAC (PMT #277) __

m, Mean:97.45
f 0:3.14

sl (TS PR RS
80 90 100 110 120 130 140

__TAC (PMT #262) __

Mean:91.07
0:2.63

V‘"
I

[

___TAC (PMT # 266) __

p, Mean:87.82
f 0:3.03

___TAC (PMT # 270) __

iy Mean:97.69
I 0:3.05

_TAC (PMT # 274) __

Mean:99.61
0:4.55

. [P BV
80 100 120 140 160

___TAC (PMT #278) __

. Mean:91.84

Fy o2t
|

80 90 100 110 120 130

___TAC (PMT # 263) __

10

- Mean:86.74

b,

.

! 1 0:2.87

— TAC (PMT # 267)

~ Mean:90.34
0:3.03

___TAC (PMT #271) __

10

70 80 90

g Mean:86.37
0:3.28

100 110 120 130

—_TAC (PMT # 275) __

o Mean:97.89
[1 0:3.07

90 100 110 120 130 140

___TAC (PMT # 279) _

10

n Mean:90.93
0:2.55

r
4

4%
I

1




___TAC (PMT #280) __ __TAC (PMT #281) __ __TAC (PMT #282) __ ___TAC (PMT # 283) __

104 104 b= 104 |- 10
, o Mean:88.13 ~ Mean:90.70 ‘m\ Mean:90.33 ok o Mean:94.14
10° 10° 10° g A
' 0:3.13 0:3.08 ',f L 0:2.50 V' 0:3.86
|
10p 0k 10k | 0f
ot ] FPY PR T 1ml.... P T P 1 \H [ bl [PTIY PRETY PO PP B
70 80 90 100 110 120 130 70 80 90 100 110 120 130 } 80 90 100 110 120 70 80 90 100 110 120 130 140 150
___TAC (PMT # 284) _ ‘__TAC (PMT # 285) __ ___TAC (PMT # 286) __ ___TAC (PMT # 287) _
. p Mean:98.74 . m Mean:86.94 . ~ Mean:90.11 . A Mean:91.61
rf 0:3.02 0:3.63 'Y 6242 b o265
A
A
10 K 10 ‘ 10
1= lBOI * l|.||;0 100 110l * l1'2'0l - llS'Ol * ll'4'0” 1 éD 70 80 90 100ll ll'l'O'“llZIU“llliiIO“ lllAId } e EDI 90 :‘;‘Ol = l11'0l = iZIUl - ‘} e E(I) 90 100"l - l190l = l12'0l - iSIO
__ TAC (PMT # 288) _ __ TAC (PMT #289) _ __ TAC (PMT #290) __ _ TAC (PMT # 291) _
fx, Mean:100.00 ~ Mean:108.73 7= Mean:102.29 =_ Mean:108.43
[J ‘] 0:0.95 i3 | Y o128 A 1 o109 wl | L o100

4o AT ] g 4]
il [l ] |

: Igsl '_u_.roln_._u_lmls - I11‘0I s oo™ Iﬁuﬁw 12‘0 12‘5 ) B 100 105 110 15 ) o 1‘0‘2I Ilbzm 14 I1‘1‘6I I1‘1‘8I I1‘2‘0I Illzlzllféa
__TAC (PMT #292) __ __TAC (PMT #293) __ __TAC (PMT #294) __ __TAC (PMT # 295) __
ri Mean:104.36 [pL Mean:103.35 p= Mean:101.11 Iy Mean:104.76
0 I ]l 0:1.01 B |-1 1[ 0:1.07 0’ |'J A 0:0.99 ' I 0g:0.97

|
=

105 110 115 1 95 100 105 110 115 12 N .95 _._.ﬁ)ll)_u_._.l_ﬂg llID .llls‘ 1 lOIU‘_._._.l_OIS_._._._uIUl - l11'5l - l1
___TAC (PMT # 296) _ __ TAC (PMT #297) _ _ TAC (PMT # 298) __ _ TAC (PMT #299) __
re, Mean:103.84 J—._1 Mean:105.91 T Mean:107.54 T, Mean:105.72
[ l] 0:1.02 0 [ l] 0:1.01 J’ L o:1.00 [ l] 0:1.02
I | | o I

102k l- 102 | [ 102 - J 102 |




104

102

___ TAC (PMT # 300) _
=7 Mean:107.01
|'J I-] 0:1.01

10‘0 ul_ols_u_uﬁlu_' s I12‘0I -
___TAC (PMT # 304) _
= Mean:106.58
3 J— L 0:1.02
I 11
: -'-'m';'-'-'-'ﬁ'o-L BT

___TAC (PMT #308) __

A7 Mean:111.15
J[ ‘n] 0:1.19
102 J' ‘
g Ll
—_TAC (PMT # 312) __
. Mean:108.53
I
3 J |l o:107
|
B Iorn{#;"'—'—"l—'—" IU |_|15
___TAC (PMT #316) __
Iy Mean:104.68
Jr L o:1.00
102 = '-
I
I T L || S+

___TAC (PMT #301) _
|-._‘L Mean:104.08
ok Iy o096

|

102

Lo AN I
& 98 100 102 104 106 108 110 112 114 116 118

___TAC (PMT # 305) _
. Mean:105.86
0:1.04

___TAC (PMT #309) __

=_ Mean:108.50
v 1 L 0:1.07
|
1—0|O ' Il_OIS_._u_.l_llau_l 11'5I = I12'0I - I125
—_TAC (PMT # 313)
;-i__l Mean:104.56
10k J|— L 0:1.01
I ]1
10F [ |
1 |_| lIDID‘|_‘_‘_‘1_0‘5““—!1-1|0l - l11'5l = l12

__TAC (PMT #317) __

104

r.. Mean:100.65
0:0.99

10° L

|
J

102

J—"- Mean:109.91
JI | o116
!
JI
ﬁ)’l—!_[_ﬂ:: 110 11'5”"””12'5ll

™ Mean:106.51
o° | L o107
ro
L J ‘
i [ A P EPRPEPET P

b

s

___TAC (PMT #302) __

2 Mean:100.25
3 J -! 0:0.91

[
a

T [ T P
94 96 98 100 102 104 106 108 110 112 114

___TAC (PMT # 306) __

___TAC (PMT #310) __

__TAC (PMT # 314) __

I5N Mean:111.55
3 ot 0:1.13
B
[
|[ P P TP PR

__TAC (PMT #318) __

= Mean:102.29
o3 [J 1] 0:1.08
l
10F
1hegd 100 05 I|1_1|n””115III

___TAC (PMT #303) __

™ Mean:100.87
10° b |— L 0:0.95
102 ‘[
: 95 100 10'5 - I11'0I - IllIS
___TAC (PMT # 307) _
=3 Mean:106.88
A
Jf L, o106
!
1—|100 l‘l_.l_UIS_._._._.l_llu_L * lllISl - l12|0_|
_ TAC (PMT # 311) _

n, Mean:105.63
0:1.04

100 105 110 115 120

__TAC (PMT # 315) __

M, Mean:107.92
w0k [J "l 0:1.03
|
__TAC (PMT # 319) _
X..—:_ Mean:103.02
o | [ 1l 0:1.12

-
—






400

350

300

250

200

150

100

500






